










Special Seismic Certification

OSHPD Preapproval (OSP-0026)

Carrier XR/XRV Product Line

Testing Lab: University of Buffalo SEESL
Testing Report: UB CSEE/SEESL-2020-03
Testing Unit Num: UUT-1

Nominal 

Capacity 

(tons)

Measured 

Operating 

Weight 

(lbs)

Mounting
Frequency 

(Hz)

X Front-Back n/a

Y Side-Side n/a

Z Vertical n/a

Notes: Frequencies are not applicable for wall mount units/subcomponents

Attachment Method 8-1/4" sheet metal screw into Seismic Parameters

cooler bracket.  Bolted to cooler freestanding

support.  Freestanding support bolted to table AFLX-H ARIG-H AFLX-V ARIG-V

Seismic Modifications

manufacture w/2-#8 sheet metal screws each

Figure 7.3: Seismic Modifications

Notes: The UUTs were full of contents during the test.

Unit maintained structural integrity and remained functional per manufacture requirements after shake table test

Weight

PIC6 Control Box (no VFD) 106 lb Gaston Carbon Steel

UUT-7 Summary Tested Sub-Component

Sub-Component Part Number Manufacturer Material

Figure 7.1: Unit on the shake table

L Brackets provided by
CBC 2019 AC 156

2.0 @ 1.0 

2.5 @ 0.0

Figure 7.2: Mounting Detail

Horizontal Vertical

6.5

1.67g 0.67g3.2g 2.4g

19XR04037229

UUT-7 Test Summary

Subcomponent Part  

Number

Excitation 

Direction

Width

 (in)

Depth              

(in)

Height            

(in)

19XR0403070* n/a 106
Rigid 

Mount
32 30

Building 

Code

Test 

Criteria

SDS (g) & 

z/h



Special Seismic Certification

OSHPD Preapproval (OSP-0026)

Carrier XR/XRV Product Line

Testing Lab: University of Buffalo SEESL
Testing Report: UB CSEE/SEESL-2020-03
Testing Unit Num: UUT-2

Nominal 

Capacity 

(tons)

Measured 

Operating 

Weight 

(lbs)

Mounting
Frequency 

(Hz)

X Front-Back n/a

Y Side-Side n/a

Z Vertical n/a

Notes: Frequencies are not applicable for wall mount units/subcomponents

Attachment Method 8-1/4" sheet metal screw into Seismic Parameters

cooler bracket.  Bolted to cooler freestanding

support.  Freestanding support bolted to table AFLX-H ARIG-H AFLX-V ARIG-V

Seismic Modifications

manufacture w/2-#8 sheet metal screws each

Figure 8.3: Seismic Modifications

Notes: The UUTs were full of contents during the test.

Unit maintained structural integrity and remained functional per manufacture requirements after shake table test

Weight

PIC6 Control Box (no VFD) 106 lb Gaston Carbon Steel

UUT-8 Test Summary

Subcomponent Part  

Number

Excitation 

Direction

Width

 (in)

Depth              

(in)

Height            

(in)

19XR0403070* n/a 106
Isolated 

Mount
32 30

Building 

Code

Test 

Criteria

SDS (g) & 

z/h

Horizontal Vertical

6.5

1.67g 0.67g

Figure 8.1: Unit on the shake table

UUT-8 Summary Tested Sub-Component

Figure 8.2: Mounting Detail

L Brackets provided by
CBC 2019 AC 156

2.0 @ 1.0 

2.5 @ 0.0
3.2g 2.4g

19XR04037229

Sub-Component Part Number Manufacturer Material

GillianM
Snapshot

GillianM
Snapshot


